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QUESTION 1

What are two advantages of embedding the security functions in the hypervisor? (Choose two.) 

A. Manages security posture of workloads at scale. 

B. Enables high throughput rates. 

C. Secure East-West traffic between each single virtual machine. 

D. Avoids hairpinning of resources. 

Correct Answer: AC 

 

QUESTION 2

Which service of VMware Integrated OpenStack has the ability to communicate with VMware NSX Controller, create
logical switches and routers, and add new NSX virtual machines on demand? 

A. Neutron 

B. Proton 

C. Glance 

D. Nova 

Correct Answer: A 

 

QUESTION 3

Which is the VMware product through which VMware NSX, other than VMware vRealize Automation, provides
automation of the entire data center? 

A. VRealize Operations manager 

B. VMware Integrated OpenStack 

C. VMware Site Recovery Manager 

D. VMware vRealize Log Insight. 

Correct Answer: B 

 

QUESTION 4

In a Software-Defined Data Center (SDDC) that has a distributed firewall, where are the firewall policies enforced? 

A. Guest operating system 
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B. Uplink ports 

C. Virtual machine\\'s virtual interface 

D. Host 

Correct Answer: D 

 

QUESTION 5

Which cloud environments are automated with the help of VMware NSX (Choose two)? 

A. Intranet Cloud 

B. Public Cloud 

C. Private Cloud 

D. Developer Cloud 

E. Multi-Tenant Infrastructure 

Correct Answer: DE 
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